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Why magnetic charge seems to be zero
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   See Unified Absolute Relativity Theory at:
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   The neutrino is the magnetic monopole.
   Almost all neutral particles have magnetic charge.
   We are measuring the magnetic charge of the neutrino without knowing it.
   The magnetic charges seem to be zero because the vacuum and the air are short-
circuits for magnetism.

   Magnetic and electric resistance:
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MR - Magnetic resistance; ER - Electric resistance; MV - Magnetic voltage;

EV - Electric voltage; mQ - Magnetic charge; 0m - Vacuum permeability;
   H – Magnetic field strength; B – Magnetic field.
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   Imagine a world where the electric resistance of the air is zero.

0=ER ó 0=EV ó 0=eQ

    The electric charge seems to be zero. Only electrets can exist.

   Why the SQUIDs oscillate at a frequency:
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   Because they detect the flux of neutrinos from the sun.

   Number of neutrinos per square meter per second:
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   The SQUID is a neutrino detector. The nucleus of it must not be the air.
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   The frequency is the number of neutrinos.

MI - Magnetic current


